Stat310 HWS Solutions (100°):

(8)
6.5-4 (a) ¥-§= 1511714 — 1118400 = 393.314;
(b) =

¥
.
F

= 49,660,905, 2 = 15,207,600, r = |8.500] = 8. #g0s(8) = 2.306, so the
confidence interval is [179. 148, GOT.480].

(8%

B.5-8 (a) 7=2.584, j=1564, 5% =01042, & = 00428, s, = 02711, fgeas(18) = 2.101

£
-

Thus a 95% conlidence interval for g, — p, = (L7653, 1.2747]

(b)

15 20 25 30
Figure 6.58: Box-md-whisker dingrams, wedge on (X)) and wedee off (V)

(c) Yes



(10%)
6.5-11
() ¥ —x =0447, 5 =2991, 0447 +1.533 x~2 991710 =[-0.56,1 45]

by —p.=1115 5 =14665 1.115+1 833 =l 665 710 = [0.3?,1.86]
(c) For males, No; for females, Yes
()

Histegram of x Hormal Q-0 Plot

Histogram and Hormal -0 plot of percentages difference for the males

Histogram of y Hormal C-0 Phot

Histogram and Normal 0-0) plot of percentages difference for the females
(8)
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6.6-2 For these Y weights, ¥ = 20,90, s = |.858,
(a) A point estimate for o is 5 = 1858,

1L85RVE 185 rw’_" -

(b) V1Tl V218

our

[ 1.8588  1.858
e vE | = [1.131,3.245];

_\.-’2]:.551-’1 N 623 |

LA58VE 1.858V8 = [1.334,3.179]

(c) _ V1551  V2.733 ]

ar

NG NONVN
{1 iy/8 151hJHI = [1.202,2.804].

VIOII' /3208
(8,8, 8)
6.6 8 (n) s*,ha = D.0040/0.0076 = 0.5263;

1 2
(b) m H.WE{H q}_] [( ){ﬂ a263), 4. 1000, 12!1!1] — 1(! 121, 2.158],

6.6-10 A 90% confidence interval for o3 jo? is

il 2 1 2 2
1 ™ - L £0.107 0.197
—_— | — | . Faas(12, 15} — = | —{ —— | .2 — ~
Fooa(15.12) (.u,,) 00s{12,1 ‘}(sv) ] [2,1}2(0.315) = "'“(n.:ua) ]

So a W% confidence interval for oy /oy is given by the square roots of these values, nanely
(0,383, 0.976].

ﬁﬂ-i.-iﬂg 604,489
6.6-12 15 448N om0, 5.710]:
(a) [Hlﬁ 429.253) 3“5(329.253)] 0889, 3719}

(b) [0.77, 2.30].
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B o JT029) . [(0.71)(0.29)
6.7-2 [{I.?l |.r..|.u\/T-,u.11 + 1.f,45‘/—__)u-ﬁ-._ = [0.66, 0.76).

(8°,10%)
6.7-8 (a) p

388
22— (13796
1022 798

(0.3796}(0.6204)
1022

(b} 04796 + l.li-l.'l‘/ o [0UE546, U40486],

iu.-."m:{u.iz_l

B.7-10 (a) 0.55 + 1.1:’-1-’:-.'l|,1IIIr ar - [0.544, D616

Sl
() ae = 2. | '
\/[EFE;HHT}?] =2 COTTESPONIS Lo an approgiioate 965 conhidegee level,
G

(8)

6.7-18 (a) ji, = L70/460 = 0.37, fi, — 141/440 = 0,32,

(OIT)(0.63) | (0.32)(0.68)
460 440
(b) yes, the interval includes zero.

[-0,012, 0.112];

037 — (32 4 l.QHJ



